

State of West Virginia Department of Administration Purchasing Division

NOTICE

Due to the size of this bid, it was impractical to scan every page for online viewing. We have made an attempt to scan and publish all pertinent bid information. However, it is important to note that some pages were necessarily omitted.

If you would like to review the bid in its entirety, please contact the buyer. Thank you.



VEZDOR

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for **Quotation**

SH-P

Ţ

RFQ NUMBER

PAGE

6612C024

ADDRESS CORRESPONDENCE TO ATTENTION OF:

ALAN CUMMINGS 304-558-2402

*709034233 540-992-5500 SUMMIT HELICOPTERS CMMM INC PO BOX 39

CLOVERDALE VA 24077

DIVISION OF HIGHWAYS
VARIOUS LOCALES AS INDICATED
BY ORDER

RECEIVED APR 2 4 2012

DATE PR	INTED	TEF	IMS OF SAL	E	SHIP VIA		F.O.B.	FREIGHT TERMS
	/2012							
BID OPENING DAT		05/02/	1 X 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		BID	OP	ENING TIME 01	:30PM
LINE	QUAN	TITY	POU	CAT. NO.	ITEM NUMBER		UNIT PRICE	AMOUNT
0001	HERBIC	1	EA DJUVA		675-85 SAFETY & MISCEL	LAN	EOUS ITEMS	
2	AGENCY SOLICI HERBIC	, THE TING B IDES, FOR AL	WEST IDS F ADJUV L TEN	STAT VIRGI OR AN ANTS,	END CONTRACT E PURCHASING DI NIA DIVISION OF OPEN END CONTR SAFETY AND OTH RICTS PER THE A	HI ACT ER	GHWAYS, IS TO PROVIDE MISCELLANEOUS	
	AWARD AYEAR OF NECESSAORIGINANOT EXTENDED	F CONT AND EX R UNTI ARY TO AL CON CEED T THE VE UPON	TENDS L SUC OBTA TRACT WELVE NDOR GIVIN	FOR H "RE IN A TH (12) MAY T	IS CONTRACT BEC A PERIOD OF ONE ASONABLE TIME" NEW CONTRACT OR E "REASONABLE T MONTHS. DURIN ERMINATE THIS C DIRECTOR OF PU	THE RE IME IG T) REAFTER AS IS NEW THE " PERIOD SHALL HIS "REASONABLE RACT FOR ANY	N
	IN THIS VIRGIN TERMS, FIRM FO	S CONT IA, IT CONDI OR THE	RACT S AGE TIONS LIFE	DOCUM NCIES , AND OF T	IONS ARE STIPUL ENT BY THE STAT, OR POLITICAL PRICING SET FOHE CONTRACT.	E O SUB RTH	F WEST DIVISIONS, THE HEREIN ARE	RECEIVED
	WRITTE	N CONS	ENT O	F THE DIREC	MAY BE RENEWED SPENDING UNIT TOR OF PURCHASI	AND NG	ON THE MUTUAL VENDOR, THIRTY (30)	WV PURCHASING DIVISION
SIGNATURE				OEE HE	VERSE SIDE FOR TERMS AND C TELEPHONE	UNDIT	IONS DATE	
TITLE		ler	EIN		Documento evisitario est			
		-	-114				ADDRESS CHANGES	TO BE NOTED ABOVE

GENERAL TERMS & CONDITIONS REQUEST FOR QUOTATION (RFQ) AND REQUEST FOR PROPOSAL (RFP)

- 1. Awards will be made in the best interest of the State of West Virginia.
- 2. The State may accept or reject in part, or in whole, any bid.

3. Prior to any award, the apparent successful vendor must be properly registered with the Purchasing Division and have paid the required \$125 fee.

- 4. All services performed or goods delivered under State Purchase Order/Contracts are to be continued for the term of the Purchase Order/Contracts, contingent upon funds being appropriated by the Legislature or otherwise being made available. In the event funds are not appropriated or otherwise available for these services or goods this Purchase Order/Contract becomes void and of no effect after June 30.
- 5. Payment may only be made after the delivery and acceptance of goods or services.
 - Interest may be paid for late payment in accordance with the West Virginia Code.
 - 7. Vendor preference will be granted upon written request in accordance with the West Virginia Code.
 - 8. The State of West Virginia is exempt from federal and state taxes and will not pay or reimburse such taxes.
 - 9. The Director of Purchasing may cancel any Purchase Order/Contract upon 30 days written notice to the seller.
 - 10. The laws of the State of West Virginia and the Legislative Rules of the Purchasing Division shall govern the purchasing process.
 - 11. Any reference to automatic renewal is hereby deleted. The Contract may be renewed only upon mutual written agreement of the parties.
 - 12. BANKRUPTCY: In the event the vendor/contractor files for bankruptcy protection, the State may deem this contract null and void, and terminate such contract without further order.
 - 13. HIPAA BUSINESS ASSOCIATE ADDENDUM: The West Virginia State Government HIPAA Business Associate Addendum (BAA), approved by the Attorney General, is available online at www.state.wv.us/admin/purchase/vrc/hipaa.html and is hereby made part of the agreement provided that the Agency meets the definition of a Cover Entity (45 CFR §160.103) and will be disclosing Protected Health Information (45 CFR §160.103) to the vendor.
 - 14. CONFIDENTIALITY: The vendor agrees that he or she will not disclose to anyone, directly or indirectly, any such personally identifiable information or other confidential information gained from the agency, unless the individual who is the subject of the information consents to the disclosure in writing or the disclosure is made pursuant to the agency's policies, procedures, and rules. Vendor further agrees to comply with the Confidentiality Policies and Information Security Accountability Requirements, set forth in http://www.state.wv.us/admin/purchase/privacy/noticeConfidentiality.pdf.
 - 15. LICENSING: Vendors must be licensed and in good standing in accordance with any and all state and local laws and requirements by any state or local agency of West Virginia, including, but not limited to, the West Virginia Secretary of State's Office, the West Virginia Tax Department, and the West Virginia Insurance Commission. The vendor must provide all necessary releases to obtain information to enable the director or spending unit to verify that the vendor is licensed and in good standing with the above entities.
 - 16. ANTITRUST: In submitting a bid to any agency for the State of West Virginia, the bidder offers and agrees that if the bid is accepted the bidder will convey, sell, assign or transfer to the State of West Virginia all rights, title and interest in and to all causes of action it may now or hereafter acquire under the antitrust laws of the United States and the State of West Virginia for price fixing and/or unreasonable restraints of trade relating to the particular commodities or services purchased or acquired by the State of West Virginia. Such assignment shall be made and become effective at the time the purchasing agency tenders the initial payment to the bidder.

I certify that this bid is made without prior understanding, agreement, or connection with any corporation, firm, limited liability company, partnership, or person or entity submitting a bid for the same material, supplies, equipment or services and is in all respects fair and without collusion or Fraud. I further certify that I am authorized to sign the certification on behalf of the bidder or this bid.

INSTRUCTIONS TO BIDDERS

- 1. Use the quotation forms provided by the Purchasing Division. Complete all sections of the quotation form.
- 2. Items offered must be in compliance with the specifications. Any deviation from the specifications must be clearly indicated by the bidder. Alternates offered by the bidder as EQUAL to the specifications must be clearly defined. A bidder offering an alternate should attach complete specifications and literature to the bid. The Purchasing Division may waive minor deviations to specifications.
- 3. Unit prices shall prevail in case of discrepancy. All quotations are considered F.O.B. destination unless alternate shipping terms are clearly identified in the quotation.
- 4. All quotations must be delivered by the bidder to the office listed below prior to the date and time of the bid opening. Failure of the bidder to deliver the quotations on time will result in bid disqualifications: Department of Administration, Purchasing Division, 2019 Washington Street East, P.O. Box 50130, Charleston, WV 25305-0130
- 5. Communication during the solicitation, bid, evaluation or award periods, except through the Purchasing Division, is strictly prohibited (W.Va. C.S.R. §148-1-6.6).



Request for Quotation

6H-P

Ţ

6612C024

PAGE

ADDRESS CORRESPONDENCE TO ATTENTION OF

ALAN CUMMINGS 304-558-2402

*709034233 540-992-5500 SUMMIT HELICOPTERS CMMM INC PO BOX 39

CLOVERDALE VA 24077

DIVISION OF HIGHWAYS VARIOUS LOCALES AS INDICATED BY ORDER

DATE PRINTED	TEI	RMS OF SALE	SHIP VIA	F.O.B.	FREIGHT TERMS
04/16/2012					1
BID OPENING DATE:	05/02/		BID	OPENING TIME 0:	L:30PM
LINE (YTITMAUQ	UOP CAT.	ITEM NUMBER	UNIT PRICE	AMOUNT
DAVE	DDTOD 3	O THE EVE	DATION DATE OF	JCH RENEWAL SHALL	
		The state of the s	THE TERMS AND CO	트 [Mangalilate]	
			SHALL BE LIMITED		
	YEAR PER		DIREC DE CITATION	1 10 1110 (2) 2112	
CANC	ELLATION	: THE DIRE	CTOR OF PURCHASI	NG RESERVES THE	
RIGH	T TO CAN	CEL THIS C	ONTRACT IMMEDIAT	ELY UPON WRITTEN	
1		1 1		S AND/OR SERVICES	S
1 1 2 2		1 1	ERIOR QUALITY OF	1	
ТО Т	HE SPECI	FICATIONS	OF THE BID AND O	CONTRACT HEREIN.	
0.051	MARKET	OLAUGE TI	I DIRECTOR OF DI	IDCUACTNO MAN	
1 1000			E DIRECTOR OF PU	전에 보고 1급 전 전전 전로 1명 다양한 전환 보고 있습니다. 그렇게 있다면 하다.	
project and the second		HORSE THE PROPERTY COST SHOWN A CONTRACT OF THE	JNIT TO PURCHASE LING OF A REQUIS		
			IED ON THIS CONT		
			EMERGENCIES DUE		
			NOT LIMITED TO I		
			CIPATED INCREASE		
	ORK.)		A SECOND A SECOND SECON	Secretarial Pri Secretaria del India de	
				**	
The state of the s		3	LISTED IN THE F	1 TO	
			BASED ON ESTIMATE		
				STOOD AND AGREED	
				NTITIES ACTUALLY	
			OURING THE TERM (
WHE	HER MURE	UK LESS	THAN THE QUANTIT	IES SHOWN.	
OPDE	DING PRO	CEDURE SE	PENDING UNIT(S)	SHALL TSSUE A	
			ORDER (FORM NUI		
			TIES COVERED BY		
		1 1	THE WV-39 SHALL	1	
			N FOR SHIPMENT,		1
			ING DIVISION, AND		
RETA	INED BY	THE SPEND	ING UNIT.		
BANK	RUPTCY:	IN THE EV	VENT THE VENDOR/	CONTRACTOR FILES	
		I SEF RE	_ EVERSE SIDE FOR TERMS AND CO	_i Onditions	
SIGNATURE			TELEPHONE	DATE	
TITLE	Tr.	EIN			
100000000000000000000000000000000000000		7711.674-634-4Q			S TO BE NOTED ABOVE
VAULENLES	OLUDIAGO	TO DEO INICE	TAIAAL AND ADDDECC	IN SDACE ABOVE LABEL	ED WENDOD!



VENDOR

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

GH-P

Ţ

6612C024

D/	GE
22.2.1.4	,
	3

ADDRESS CORRESPONDENCE TO ATTENTION OF

ALAN CUMMINGS 304-558-2402

*709034233 540-992-5500 SUMMIT HELICOPTERS CMMM INC PO BOX 39

CLOVERDALE VA 24077

DIVISION OF HIGHWAYS
VARIOUS LOCALES AS INDICATED
BY ORDER

DATE PRIN	TED	TER	MS OF SAL	E	SHIP VI	Α	F.	O.B.		FREIGHTTERMS
04/16/	2012									
BID OPENING DATE:		05/02/	2012			BID	OPENING	TIME	01:	30PM
LINE	600000000000000000000000000000000000000		UOP	CAT.	ITEM NUM			T PRICE		AMOUNT
W ₃ -	CONTRA WITHOU THE TE SHALL CONDIT DOCUME AGREEM REV. 0 EXHIBI LOCAL IN THE AND OT TO POL VIRGIN PRICES POLITI CLEARL SHALL MANNER REV. 3 PURCHA CURREN IS ISS MUST A CARD	NKRUPT CT NUL T FURT RMS AN SUPERS IONS W NTS SU ENTS O ONIC M 1/17/2 GOVERN BID H NDITIO HER LO ITICAL IA. I , TERM CAL SU Y INDI NOT PR /88 SING C TLY UT UCCEPT OR PAY	CY PR L AND HER ON A HICH ASI	OTECT VOID RDER. DIT ANA PRINA PRINA BODIAL THEN SUCH BOUSAL TOVENN SICH CCEPT S A BA TON NOT	ITEMNUM ION, THE S , AND TERM NS CONTAIN D ALL SUBS PPEAR ON A E LISTS, O NCE AGREEM AS CD-ROM S: UNLES TO EXTENI BID TO COU MENT BODIE OR DOES NO DITIONS OF OF THE ST REFUSAL IN E AWARD OF ANCE: THE ISA PURCHA NK. THE S OF WEST VI L ORDERS IO OF AWARD. ICE VERSE SIDE FOR TE	STATE MAINATE NED IN SEQUENT ANY ATT DRDER FAINTS, SS THE PUNTY, SES, THE ESTATE DT WISHE STATE THE BUT WISHE BUT WISH	AY DEEM SUCH CONTERMS ACHED PROPERTY OF WEST TO EXTHED TO AN HE VENDED CONTRACTOR OF WEST ARD PROPERTY ANY	THE NTRACT NTRACT AND RINTED ALES NG ANY INDICATE TERMS, MUNICIPA ALL EXTE TEND THE LL OR MUST CH REFUS T IN ANY T VIRGIN GRAM WHI DOR URCHASIN	AL SAL Y	AMOUNT
SIGNATURE						ELEPHONE		D/	ATE	
TITLE		FE	EIN				AD	DRESS CHAN	GES T	TO BE NOTED ABOVE



Request for Quotation

Ö

SHIP VIA

6612C024

PAGE 4

FREIGHT TERMS

ADDRESS CORRESPONDENCE TO ATTENTION OF

ALAN CUMMINGS

*709034233 540-992-5500 SUMMIT HELICOPTERS CMMM INC PO BOX 39

DATE PRINTED TERMS OF SALE

DIVISION OF HIGHWAYS
VARIOUS LOCALES AS INDICATED
BY ORDER

F.O.B.

PO BOX 39
CLOVERDALE VA 24077

04/16/	2012										
BID OPENING DATE:	0	5/02/2	2012			BID	OPENING	TIME	01:	30PM	
LINE	QUANTI	ITY	UOP	CAT. NO.	ITEM NUMB	ER	UNIT	PRICE		AMOUNT	
	DE PU BU 20	PARTMI RCHAS ILDIN	ENT O ING D G 15 SHING	F ADM IVISI TON S	UBMITTED T INISTRATIO ON TREET, EAS 5305-0130	N					
		ELOPE			THIS INFO D MAY NOT				OF		٠
	BUYER:			Α	LAN CUMMIN	GS - F	ILE 33				
	RFQ. NO BID OPE		DATE:		612C024 5/02/2012	-					H
	BID OPE	NING	TIME:	1	:30 P.M.		26				
					UMBER IN C NG YOUR BI	D:		SSARY			
	CONTACT 	PERS	ON (P		PRINT CLE	ETERS					
SIGNATURE				SEE HE		ELEPHONE	(III)	[0	DATE		
TITLE		IFE	IN				ADI	DESC CHAI	ICER	TO BE NOTED ABOV	E



Request for Quotation

SH-P

esse o t	CIVI	غالاا ك) Lin		*****
	461	12	cn	24	0

····P	AGE
	,
	5

ADDRESS CORRESPONDENCE TO ATTENTION OF

ALAN CUMMINGS

*709034233 540-992-5500 SUMMIT HELICOPTERS CMMM INC PO BOX 39

CLOVERDALE VA 24077

DIVISION OF HIGHWAYS
VARIOUS LOCALES AS INDICATED
BY ORDER

DATE PRIN		TER	RMS OF SAI	.E	SHIP	VIA		F.O.B,	FREIGHT TERMS
04/16/ BID OPENING DATE:		05/02/	2012			DID	ODE	NINO TIME O	1 . 70 DM
	5058503050505050505	05/02/		CAT			UPE		1:30PM
LINE	QUAN	NTITY	UOP	NO.	ITEM N	JMBER		UNIT PRICE	AMOUNT
LINE	ANY IN (1) HE THE BI THE BI THE BI THE BI	DIVIDU OR SH D OR A DDER, DDER I DDER H ES THA	AL SI E IS NY DO (2) T N A C AS PR	GNING AUTHO CUMEN HAT H ONTRA OPERL REQU	RIZED BY TS RELAT E OR SHE CTUAL RE Y REGIST IRE REGI	JMBER D IS CER THE BID ED THERE IS AUTH LATIONSH ERED WIT STRATION	TIF DER TO ORI IP,	ENING TIME UNIT PRICE FYING THAT: R TO EXECUTE ON BEHALF OF IZED TO BIND , AND (3) THAT ANY STATE	AMOUNT LLACING 80
	l		I.	SEE RE	l Verse side for	TERMS AND COL	L NDITIO	ONS	
SIGNATURE	<u></u>	<u> </u>	000000000000000000000000000000000000000	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		TELEPHONE	<u></u>	DATE	
TITLE		F	EIN				T	ADDRESS CHANGE	S TO BE NOTED ABOVE

1. SPECIFICATIONS

The following sections of the West Virginia Department of Transportation, Division of Highways Standard Specification Roads and Bridges, adopted 2010, as modified by the January 1, 2011 Supplemental Specifications and the January 1, 2012 Supplemental Specifications shall apply to the administration of this Contract: 101, 102.4, 102.5, 105.1, 105.3, 105.4, 105.10, 105.11, 105.12, 105.13, 106.3, 106.4, 106.5, 106.6, 106.7, 106.9, 107.1, 107.2, 107.3, 107.14, 107.19, 107.20, 108.8, 109.1, 109.2, and 109.20

The terms "Contractor" and "Vendor" used in the above specifications or this contract are interchangeable. Contractor shall mean Vendor and Vendor shall mean Contractor.

West Virginia Department of Transportation, Division of Highways Standard Specification Roads and Bridges, adopted 2010, as modified by the January 1, 2011 Supplemental Specifications and the January 1, 2012 Supplemental Specifications may be obtained from:

West Virginia Division of Highways Contract Administration Building 5, Room 722 1900 Kanawha Boulevard, East Charleston, West Virginia 25305 Phone: 304-558-2885

http://www.transportation.wv.gov/highways/contractadmin/specifications/2010StandSpec/Pages/default.aspx

Herbicide furnished under this contract shall conform to the physical and chemical properties set out in the EPA Registration of the product provided by the Vendor.

2. BIDDING INSTRUCTIONS

Vendors may bid on any or all of the products listed on the Bid Schedule. Vendors may quote Product Name requested or provide "an equal to" product.

The vendor shall list the trade name and EPA Registration Number on the Bid Schedule for each product bid. Failure to list this information on the Bid Schedule will result in the disqualification of the vendor's bid on that product.

The vendor shall provide the label from the item being bid as "an equal to" the product requested to eliminate any confusion in determining equivalency to product item requested with their bid. The final determination of equivalency will be made by the Division of Highways.

Equivalency, chemical name or equivalent, shall mean equal and not necessarily identical. Prior to award of low bid the Division of Highways may require product samples for evaluation to determine equivalency. Product specifications and technical information should be submitted with bid and may also be used to determine equivalency.

The successful vendor shall furnish two product labels, for each product awarded, to the Division of Highways. The labels shall provide pertinent information regarding product storage and handling or this information shall otherwise be provided with each shipment.

3. TRAINING AND TECHNICAL ASSISTANCE

In order to bid on and be awarded items on this contract, the vendor must have a representative, holding a valid Category 7 certification in West Virginia, available to provide training and technical assistance as required or upon request by Division of Highways personnel. Each bidder shall provide the name and telephone number of their representative in the space provided below with their bid. The company shall have a valid Category 12 certification in West Virginia. A copy of the representative's current Category 7 certification and a copy of the company's current Category 12 certification in West Virginia shall be submitted with the bid.

The vendor's failure to submit the above certification information with their bid, shall result in the total disqualification of the vendor's bid.

NAME OF REPRESENTATIVE	PHONE NUMBER	ADDRESS	*
Paul THOMAS	540-314-4903	P.O. Box 39, CLOVE	RDACE, VAZGO77
BARRY CLINIVELL	540-314-490	6 P.O. Box 39 CLOVER DALE, VA	24077

4. CONTRACT AWARD

)

It is the intent to award a contract for each product listed on the Bid Schedule. Qualified vendors who submit a valid low bid will be awarded a contract for those products for which their bid is low, provided that the vendor has listed the trade name and EPA Registration Number on the Bid Schedule for each product bid, as indicated in Section 2. <u>Failure to list this information will result in the disqualification of the vendor's bid on that product.</u>

The award for each product will be based on the bid price per unit of measure as requested on the Bid Schedule. Vendors are cautioned that the quantities on the Bid Schedule are estimates and only used for evaluation purposes.

The State of West Virginia reserves the right to make multiple awards on this contract when it is in the best interest of the State to do so.

1. SPECIFICATIONS

The following sections of the West Virginia Department of Transportation, Division of Highways Standard Specification Roads and Bridges, adopted 2010, as modified by the January 1, 2011 Supplemental Specifications shall apply to the administration of this Contract: 101, 102.4, 102.5, 105.1, 105.3, 105.4, 105.10, 105.11, 105.12, 105.13, 106.3, 106.4, 106.5, 106.6, 106.7, 106.9, 107.1, 107.2, 107.3, 107.14, 107.19, 107.20, 108.8, 109.1, 109.2, and 109.20

The terms "Contractor" and "Vendor" used in the above specifications or this contract are interchangeable. Contractor shall mean Vendor and Vendor shall mean Contractor.

West Virginia Department of Transportation, Division of Highways Standard Specifications Roads and Bridges, adopted 2010 and the January 1, 2011 Supplemental Specifications may be obtained from:

West Virginia Division of Highways Contract Administration Building 5, Room 722 1900 Kanawha Boulevard, East Charleston, West Virginia 25305 Phone: 304-558-2885

http://www.transportation.wv.gov/highways/contractadmin/specifications/2010StandSpec/Pages/default.aspx

Herbicide furnished under this contract shall conform to the physical and chemical properties set out in the EPA Registration of the product provided by the Vendor.

2. BIDDING INSTRUCTIONS

Vendors may bid on any or all of the products listed on the Bid Schedule. Vendors may quote Product Name requested or provide "an equal to" product.

The vendor shall list the trade name and EPA Registration Number on the Bid Schedule for each product bid. Failure to list this information on the Bid Schedule will result in the disqualification of the vendor's bid on that product.

The vendor shall provide the label from the item being bid as "an equal to" the product requested to eliminate any confusion in determining equivalency to product item requested with their bid. The final determination of equivalency will be made by the Division of Highways.

Equivalency, chemical name or equivalent, shall mean equal and not necessarily identical. Prior to award of low bid the Division of Highways may require product samples for evaluation to determine equivalency. Product specifications and technical information should be submitted with bid and may also be used to determine equivalency.

The successful vendor shall furnish two product labels, for each product awarded, to the Division of

Highways. The labels shall provide pertinent information regarding product storage and handling or this information shall otherwise be provided with each shipment.

3. TRAINING AND TECHNICAL ASSISTANCE

In order to bid on and be awarded items on this contract, the vendor must have a representative, holding a valid Category 7 certification in West Virginia, available to provide training and technical assistance as required or upon request by Division of Highways personnel, including but not limited to, an annual Division of Highways Vegetation Management Seminar and this person is encouraged to attend the mandatory prebid meeting. Each bidder shall submit the name and telephone number of their representative with bid. The company shall have a valid Category 12 certification in West Virginia. Copies of these certifications shall be submitted with the bid.

The vendor's failure to submit the above certification information with their bid, shall result in the total disqualification of the vendor's bid.

PAUL THOMAS 540-314-4903 P.O. Box 39 CLOVERDALEVA

Z4077

BARRY CLINEVEL 540-314-4904 P.O. Box 39 CLOVERS MEVA 24017

4. CONTRACT AWARD

It is the intent to award a contract for each product listed on the Bid Schedule. Qualified vendors who submit a valid low bid will be awarded a contract for those products for which their bid is low, provided that the vendor has listed the trade name and EPA Registration Number on the Bid Schedule for each product bid, as indicated in Section 2. <u>Failure to list this information will result in the disqualification of the vendor's bid on that product.</u>

The award for each product will be based on the bid price per unit of measure as requested on the Bid Schedule. Vendors are cautioned that the quantities on the Bid Schedule are estimates and only used for evaluation purposes.

The State of West Virginia reserves the right to make multiple awards on this contract when it is in the best interest of the State to do so.

5. ACCEPTANCE PLAN

With each delivery of herbicide products to the Division of Highways, the vendor shall certify that the products delivered conform to the properties described in the EPA Registration.

Material failing to comply with the quality requirement will not be accepted.

	HERBICIDES	% Concentration/			Cost Per	
		Pounds per Gallon	Estimated	Unit of	Unit of	Extended
Item #	Description	of Active Ingredients	Quantity	Measure	Measure	Cost
DOH-1H	Water Soluble Emulsifiable Concentrate Containing:					
	Ammonium Salt of Fosamine with Surfactant	4 lbs/gallon				
	Product Trade Name: Krenite S or equal KRENITE S					
	EPA Registration Number: <u>352 - 395</u>					
	A) Supplied in 2.5 gallon containers in lots of 5 gallons		3000	gallon	\$64.00	\$192000.0
V.	B) Supplied in 15 gallon returnable/refillable containers		3000	gallon	\$50.75	\$152250.0
DOH-2H	Water Soluble Emulsifiable Concentrate Containing:					The state of the s
	Isopropylamine Salt of Glyphosate					
	Phosphate Ester Surfactant	50.20%				
	Product Trade Name: Roundup Pro Concentrate or					
	EPA Registration Number: _524 - 529					
	A) Supplied in 30 gallon plastic returnable drums.		6000	gallon	\$16.25	\$97500.00
	B) Supplied in 2.5 gallon containers in lots of 5 gallons		6000	gallon	\$16.25	\$97500.00
	C) Supplied in 15 gallon returnable/refillable containers		6000	gallon	NO BID	0
	D) Supplied in 265 gal. TOTE		6000	gallon	\$15.75	\$94500.0
DOH-3H	Dispersible Granules Containing: Sulfometuron Methyl	75%				
	Product Trade Name: Oust XP or equals Oust XP					
	EPA Registration Number: 352 - 601					
	A) Supplied in 3 pound containers in lots of 24 pounds		100	pound	\$54.60	\$5460.00
	B) Supplied in 3 pound jug		100	pound	\$56.80	\$5680.00
DOH-4H	Water Soluble Aqueous Suspension Containing: Oryzalin	4 lbs/gallon			Transcription and the second	(m
	Product Trade Name: Oxyzatix 4 Pro or equal ORYZALIN 4 PRO					
	EPA Registration Number: 81927-46					
	A) Supplied in 2.5 gallon containers in lots of 5 gallons		250	gallon	NO BID	0
DOH-5H	Aqueous Solution Containing: Imazapyr	2 lbs/gallon				<u> </u>
	Product Trade Name: Arsenal Powerline or equal					
	EPA Registration Number: 241-431					
	A) Supplied in 2.5 gallon containers in lots of 5 gallons		150	gallon	\$66.20	\$9930.00
	B) Supplied in 15 gallon drums		150	gallon	\$64.00	\$9600.00

HERBICIDES % Concentration/ Cost Per Estimated Unit of Unit of Pounds per Gallon Extended Item # Description of Active Ingredients Quantity Measure Measure Cost DOH-6H Aqueous Carrier Containing: Pendimethalin 3.8 lbs/gallon PEN-DEE 3.3 Product Trade Name: Pendulum AquaCap or equal 19713-590 EPA Registration Number: A) Supplied in 2.5 gallon containers in lots of 5 gallons 600 \$28050.00 gallon \$46.75 DOH-7H Water Soluble Concentrate Containing: Triciopyr 3 lbs/gallon TAHOE3A Product Trade Name: Garlon 3A or equal EPA Registration Number: 228 - 520 \$26375.00 A) Supplied in 2.5 gallon containers in lots of 5 gallons TAHOE 3A 500 gallon DJP \$54.75 B) Supplied in 30 gallon containers TAHOE 3A \$25875.00 500 gallon \$52.75 C) Supplied in 15 gallon continuum returnable/refillable containers TAHOE 3A in pallets of 9 containers. \$51.75 \$25875.00 500 gallon DOH-8H Water Soluble Concentrate Containing: Triciopyr 4 lbs/gallon RELEGATE Product Trade Name: Garlon 4 Ultra or equal EPA Registration Number: 228 - 521 \$14125.00 A) Supplied in 2.5 gallon containers in lots of 5 gallons \$56.50 RELEGATE 250 \$XX280XXX DJP gallon B) Supplied in 30 gallon containers RELEGATE \$54.50 250 \$13625.00 gallon \$12650.00 C) Supplied in 15 gallon continuum returnable/refillable containers \$50.60 XXXXX DJP in pallets of 9 containers. RELEGATE \$48625x80 250 gallon DOH-9H A Water Soluble Dispersible Granule Containing: Diuron 80.00% DIURON 80 DF Product Trade Name: Karmex XP or equal 81927-12 **EPA Registration Number:** \$4.75 \$9500.00 A) Supplied in 5 pound bags in lots of 10 bags 2000 pound B) Supplied in 25 pound bags 2000 \$8500.00 \$4.25 pound DOH-10H | Water Soluble Liquid Containing: Dimethylamine Salt of 2, 4-D acid 3.8 llbs/gallon WEEDESTROY AM40 Product Trade Name: DM A4 or equal 228-145 EPA Registration Number: \$2080.00 A) Supplied in 2.5 gallon containers in lots of 5 gallons 100 \$20.80 gallon B) Supplied in 30 gallon containers 100 \$20.80 \$2080.00 gallon C) Supplied in 15 gallon returnable/refillable containers 0 NO BID in pallets of 9 containers. 100 gallon

DJP

Item #	Description Vater Soluble Liquid Containing:	Pounds per Gallon of Active Ingredients	Estimated	Unit of	1200 No. 1000	1
200000000000000000000000000000000000000		of Active Ingredients		Officor	Unit of	Extended
DOH-11H W	Nater Soluble Liquid Containing:	of Active ingredients	Quantity	Measure	Measure	Cost
						
	Ammonium Salt of Imazapic	23.60%				
	Product Trade Name: Plateau or equal & PANORAMIC					
	PA Registration Number: 241-365 / 66222-141-81927			Y		
Α	A) Supplied in 1 gallon containers in lots of 2 gallons	PLATEAU	50	gallon	\$130.00	\$6500.00
В	3) Supplied in 1.44 ounce packets in lots of 14 packets	N/A	4444	packet	N/A	0
	C) Supplied in 1 quart containers in lots of 4 quarts	PANORAMIC 2SL	200	quart	\$54.25	\$10850.00
	O) Supplied in 15 gallon containers	PLATEAU	4	containers	\$2025.00	\$8100.00
	A Dispersible Liquid Containing: Hexazinone	2 lbs/gallon				
	Product Trade Name: Velpar L or equal					
	PA Registration Number:					,
	A) Supplied in 2.5 gallon containers in lots of 5 gallons		50	gallon	NO BID	0
	Ory Flowable Containing: Metsulfuron Methyl	60%				
Pi	roduct Trade Name: Escort XP or equal					
E	EPA Registration Number: 352 - 439					
. A	A) Supplied in 16 ounce containers in lots of 8 pounds (8-16 oz ctrs)		2400	ounce	\$8.00	\$19200.00
В	3) Supplied in 16 ounce jugs		2400	ounce	\$8.25	\$19800.00
C	C) Supplied in 64 ounce jug returnable/refillable		2400	ounce	\$7.20	\$17280.00
DOH-14H W	Vater Soluble Granule Herbicide Containing:					
	Ammonium Salt of Glyphosate	71.40%				
P	Product Trade Name: Roundup Pro Dry or equal QUIK PRO					
	EPA Registration Number: 524-535					
A	A) Supplied in XXX pound box 27.2 LB BOX	4 X 6.8 LB BOX	25	box	\$260.00	\$6500.00
DOH-15H D	Dry Flowable Containing: Chlorsulfuron	75%				
P	Product Trade Name: Telar XP or equal					
E	EPA Registration Number: 352-654					
A	A) Supplied in 8 x 16 ounce containter to a case		160	ounce	\$16.95	\$2712.00

HERBICIDES % Concentration/ Cost Per Pounds per Gallon Estimated Unit of Unit of Extended Item # Description of Active Ingredients Quantity Measure Measure Cost DOH-16H | A Liquid Solution Containing: Isooctyl ester of 2.4 Dichlorophenoxyacetic Acid 32.48% 2-ethylhrxyl ester of +R-2-(2,4-Dichlorophenoxy Propionic Acid 15.90% Dicamba (3, 6-Dicholoro-o-anisic Acid) 5.38% Product Trade Name: BK-800 or equal EPA Registration Number: A) Supplied in 2.5 gallon containers in lots of 5 gallons NO BID - 0 -100 gallon B) Supplied in 30 gallon drums NO BID - 0 -100 gallon DOH-17H Dry Flowable Containing: Tebuthiuron 80% Product Trade Name: Spike 80 DF or equal **TEBUTHIURON 80WG** EPA Registration Number: 81927-37 A) Supplied in 4 pound bags in lots of 24 pounds 50 \$19.50 \$975.00 pound \$975.00 B) Supplied in 25 pound bags 50 \$19.50 pound DOH-18H A Water Soluble Emulsfiable Concentrate Containing: Clopyralid 3 lbs/gallon Product Trade Name: Transline or equal __CLEAN SLATE EPA Registration Number: _228-491 NO BID 0 A) Supplied in 2.5 gallon containers in lots of 5 gallons 25 gallon \$3715.00 B) Supplied in .5 gallon containers in lots of 2 gallons 25 \$148.60 gallon DOH-19H Aqueous Solution Containing: Isopropylamine Salt of Imazapyr 27.60% Product Trade Name: Stalker or equal 241 - 398 EPA Registration Number: \$76.60 200 \$15320.00 A) Supplied in 1 quart containers in lots of 4 quarts quart DOH-20H | Aqueous Solution Containing: Diglycolamine Salt of 3, 6-Dichloro-0-Anisic Acid 4 lbs/gallon Product Trade Name: Vanguish or equal 228-397 EPA Registration Number: \$64.60 \$19380.00 A) Supplied in 2.5 gallon containers in lots of 5 gallons 300 gallon B) Supplied in 15 gallon returnable/refillable containers \$18480.00 \$61.60 in pallets of 9 containers. 300 gallon

	HEKRICIDES	% Concentration/			Cost Per	-	
		Pounds per Gallon	Estimated	Unit of	Unit of	Extended	
Item #	Description	of Active Ingredients	Quantity	Measure	Measure	Cost	
DOH-21H	Aqueous Solution Containing: Triciopyr	.75 lbs/gallon					
	Product Trade Name: Pathfinder II or equalRELEGATE RTU						
	EPA Registration Number: 228 - 552					\$9450.00	
	A) Supplied in 2.5 gallon containers in lots of 5 gallons		300	gallon	\$31.50	\$8X\$8XXX	DJF
DOH-22H	A Water Soluble Emulsfiable Concentrate Containing:						
	Isopropylamine Salt of Glyphosate	53.80%					
	Product Trade Name: Rodeo or equalAQUA_NEAT	-					
	EPA Registration Number: 228 - 552				ï		
F-	A) Supplied in 2.5 gallon containers in lots of 5 gallons		100	gallon	\$17.60	\$1760.00	
	B) Supplied in 30 gallon plastic returnable drums		100	gallon	\$17.60	\$1760.00	
DOH-23H	3						
P	Product Trade Name: Milestone VM or equal						
	EPA Registration Number: 62719 - 537						
	A) Supplied in 1 quart containers, 12 containers per lot		200	quarts	\$76.22	\$15244.00	
	B) Supplied in 2.5 gallon containers in lots of 5 gallons		50	gallon	\$299.73	\$14986.50	
DOH-24H	Water Dispersible Granular Material Containing: Prodiamine	65%					
	Product Trade Name: Endurance or equal PRO CLIPSE						
	EPA Registration Number: 228 - 434	_					
	A) Supplied in 10 pound containers, 50 pounds per lot		100	pound	NO BID	0	
	A) Supplied in 5 pound containers, 50 pounds per lot		100	pound	\$16.40	\$1640.00	
DOH-25H	Emulsifiable Concentrate Containing: Quizalofop P-Ethyl	.88 lbs/gallon					
	Product Trade Name: Assure II or equal						
	EPA Registration Number:						
	A) Supplied in 1 gallon containers in lots of 4 gallons		16	gallon	NO BID	0	
DOH-26H	Emulsifiable Concentrate Containing: Fluazifop-P-butyl	6.75%		***************************************			
	Product Trade Name: Ornamec or equal						
	EPA Registration Number:						
	A) Supplied in 1 gallon containers in lots of 4 gallons		16	gallon	NO BID	0	

	HERBICIDES	% Concentration/			Cost Per	
		Pounds per Gallon	Estimated	Unit of	Unit of	Extended
Item #	Description	of Active Ingredients	Quantity	Measure	Measure	Cost
DOH-27H	A Dispersible Granule Containing:					
	Imazapyr	7.78%				
	Diuron	62.22%				
	Product Trade Name: Sahara DG or equal MOJAVE 70 EG					
	EPA Registration Number:74477 - 9 - 81927			,		
	A) Supplied in 10 pound bags in lots of 40 pounds		50	pound	\$10.50	\$525.00
DOH-28H	A Water Soluble Dry Granule Containing: Sulfosulfuron	75%				
	Product Trade Name: Outrider or equal					
	EPA Registration Number: 524 - 500		/00		£44.0E	T
=	A) Supplied in 20 ounce bottles in lots of 200 ounce	100	400	ounce	\$14.25	\$5700.00
DOH-29H	A Liquid Containing: Diuron	40%				
	Product Trade Name: Direx 4L or equal					
	EPA Registration Number:			· · · · · · · · ·		·
	A) Supplied in 2.5 gallon containers in lots of 5 gallons		50	gallon	NO BID	0
DOH-30H	A Liquid Containing: Fluroxypyr	26.20%				
	Product Trade Name: Fluroxypyr or equal					
	EPA Registration Number:					·
0	A) Supplied in 2.5 gallon containers in lots of 5 gallons		100	gallon	NO BID	0
DOH-31H	A Liquid Containing: Fluroxypyr	45.52%				
	Product Trade Name: Vista XRT or equal					
	EPA Registration Number:					
	A) Supplied in 2.5 gallon containers in lots of 5 gallons		100	gallon	NO BID	0
DOH-32H						
	Sodium Salt of Diflufenzopy: 2-[1-({3.5-Difluorophenylamino} Carbony}]					
	Hydrazono} Ethyl)-3-Pyridinecarboxylic Acid, Sodium	21.40%				
	Sodium Salt of 3.6-Dicholoro-o-anisic Acid	55.00%				
	Product Trade Name: Overdrive or equal					
	EPA Registration Number: 7969 - 150			***		
	A) Supplied in 7.5 pound jugs, 30 pounds per case		100	pound	\$38.60	\$3860.00

	HERBICIDES	% Concentration/	00120024		Cost Per	
		Pounds per Gallon	Estimated	Unit of	Unit of	Dukan da d
Item #	Description	of Active Ingredients	Quantity	Measure	Measure	Extended Cost
	Dispersible Granules Containing: Sulfometuron Methyl Chlorsulfuron	56.25% 18.75%	Quantity	Measure	Measure	Cost
	Product Trade Name: Landmark XP or equal					
	EPA Registration Number: 352 - 645					
	A) Supplied in 4 pound jugs in lots of 32 pounds		100	pound	\$119.60	\$11960.00
	B) Supplied in 64 ounce jug, returnable/refillable		1600	ounce	NO BID	0
DOH-34H	Dispersible Granules Containing: Sulfometuron Methyl Metsulfuron Methyl	56.25% 15.00%				
	Product Trade Name: Oust Extra or equal					
	EPA Registration Number:352 - 622					
	A) Supplied in 4 pound jugs in lots of 32 pounds		400	pound	\$54.20	\$21680.00
	B) Supplied in 64 ounce jug, returnable/refillable		6400	ounce	\$3.40	\$21760.00
	C) Supplied in 12 pound jugs		400	pound	\$54.20	\$21680.00
DOH-35H	A Dry Flowable Granule Containing: Bromacil Diuron	40% 40%				
	Product Trade Name: Krovar I DF or equal					
	EPA Registration Number: 352 - 505					
	A) Supplied in 6 pound containers in lots of 8 containers		50	pound	\$12.65	\$632.50
DOH-36H	A Liquid Containing: Imazapic Glyphosate	8.13% 21.94%				
	Product Trade Name: Journey or equalJOURNEY					
	EPA Registration Number: 241 - 417					
	A) Supplied in 2.5 gallon containers in lots of 5 gallons		100	gallon	\$96.80	\$9680.00

	HERBICIDES	% Concentration/ Pounds per Gallon	Estimated	Unit of	Cost Per Unit of	Extended
Item #	Description	of Active Ingredients	Quantity	Measure	Measure	Cost
DOH-37H	A Liquid Containing: Dimethylamine Salt of 2,4-Dichlovophenoxyacetic Acid Dimethylamine Salt of Dicamba (3,6-Dichloro-o-Anisic Acid) Product Trade Name: Veteran 720 or equal	24.58% 12.82%				
	EPA Registration Number: 228 - 295	_				
	A) Supplied in 2.5 gallon containers in lots of 5 gallons		100	gallon	\$35.80	\$3580.00
	B) Supplied in 30 gallon drums		100	gallon	\$35.80	\$3580.00
DOH-38H	Dispersible Granules Containing: Chlorsulfuron Sulfometuron Methyl Sulfentrazone	9% 18% 48%				
	Product Trade Name: Throttle XP or equal		1			
	EPA Registration Number: 352 - 725					
	A) Supplied in 3.9 pound containers, 8 containers per case	_	100	pound	\$99.75	\$9975.00
DOH-39H	Water Soluble Dispersible Extruded Paste Granule Containing: Aminocyclopyrachlor	39.50%				
	Chlorsulfuron	15.80%				
	Product Trade Name: Perspective™ or equal	-				
	A) Supplied in 20 ounce containers in lots of 240 ounces		240	ounces	\$4.60	\$1104.00
	B) Supplied in 20 ounce jug		40	ounces	\$5.00	\$200.00
	C) Supplied in 5 pound containers in lots of 40 pounds		80	pounds	\$73.60	\$5888.00
	D) Supplied in 5 pound jug		20	pounds	\$75.00	\$1500.00
DOH-40H	Water Soluble Dispersible Extruded Paste Granule Containing: Aminocyclopyrachlor	39.50%				
	Metsulfuron methyl	12.60%]			
	Product Trade Name: Streamline™ or equal					
	EPA Registration Number: 352 - 848 A) Supplied in 3 pound containers in lots of 24 pounds		96	pounds	\$82.40	\$7910.40
	B) Supplied in 3 pound jug		96	pounds	\$82.40	\$7910.40

	HERBICIDES	% Concentration/			Cost Per	•
Item #	Description	Pounds per Gallon of Active Ingredients	Estimated Quantity	Unit of Measure	Unit of Measure	Extended Cost
DOH-41H	Water Soluble Dispersible Extruded Paste Granule Containing:					
	Imazapry	31.60%				
	Aminocyclopyrachlor	22.80%				
	Metsulfuron methyl	7.30%				
	Product Trade Name: Viewpoint™ or equal					
	EPA Registration Number:352 - 847					
	A) Supplied in 5 pound containers in lots of 40 pounds		100	pounds	\$58.71	\$5871.00
	B) Supplied in 5 pound jug		100	pounds	\$58.71	\$5871.00
DOH-42H	A Liquid Containing:					\$30.1100
	Indaziflam	19.05%				
77		(1.67 pounds per gal)				
l.	Product Trade Name: ESPLANADE 200SC or equal					
	EPA Registration Number: 432 - 1516					
	A) Supplied in 2.5 gallon containers in lots of 5 gallons		50	gallons	NO -BID	0
	B) Supplied in 1 quart containers in lots of 1 gallon		50	gallons	NO BID	0

Item # Description		ADJUVANTS	***************************************	1	0.45	T
Teach Teac		ADSOVANTS			Cost Per	
DOH-1A	Itam #	Description				
Product Trade Name: Bullseye or equal ALLIGARE MARKING DYR			Quantity	Measure	Measure	Cost
A) Supplied in 2.5 gallon containers in lots of 5 gallons. 100 gallon \$30.60 \$3060.00	DON-1A					
DOH-2A		A) Supplied in 2.5 gallon containers in lots of 5 gallons	100			7
Product Trade Name: SUMMIT HELICOPTERS FOAM KILLER	DOH-24	A CONTRACTOR OF THE PROPERTY O	100	gallon	\$30.60	\$3060.00
A) Supplied in QUART containers in lots of 12 3 GAL PER CS 100 gallon \$28.95 \$2895.00	DONEZA	Product Trade Name: SUMMIT HELICOPTERS FOAM KILLER				
A Diluent with Emulsifiers Product Trade Name: Hyperint Plots of 12 or 3gal. CASE 100 10		A\ 0 - 1' 1' 0' 1	100	gallan	000.05	#200F 00
Product Trade Name: Hygrade EC or Arborchem Basal Oil or Bark Oil EC or Alenza Basal Oil or Penevator or equal A) Supplied in containers in lots of 100 gallon NO BID 0 DOH-4A	DOH-3A	0 0/12 i 2/100	. 100	gallon	\$28.95	
Alenza Basal Oil or Penevator or equal Al Supplied in containers in lots of 100 gallon NO BID 0		Product Trade Name: Hygrade EC or Arborchem Basal Oil or Bark Oil EC or				
A) Supplied in containers in lots of						
Non-lonic Surfactant (90% Active Ingredient) Product Trade Name: SUMMIT 9-10 SURFACTANT A) Supplied in2.5 Gal. containers in lots of2 100 gallon \$12.50 \$1250.00 DOH-5A A Granular/Flake Drift Control Agent			100	gallon	NO BID	
A) Supplied in 2.5 Gal. containers in lots of 2	DOH-4A	Non-Ionic Surfactant (90% Active Ingredient)		ganon		0
DOH-5A A Granular/Flake Drift Control Agent Product Trade Name: A) Supplied in containers in lots of 3gal. CASE 100 gallon \$38.20 \$3820.00		Product Trade Name: SUMMIT 9-10 SURFACTANT				
A Granular/Flake Drift Control Agent Product Trade Name:		A) Supplied in <u>2.5 Gal.</u> containers in lots of <u>2</u> .	100	gallon	\$12.50	\$1250.00
A) Supplied in containers in lots of	DOH-5A					V.200.00
A) Supplied in containers in lots of		Product Trade Name:				
Product Trade Name: POLY CONTROL II A) Supplied in QUARTS containers in lots of 12 or .3gal. CASE 100 gallon \$38.20 \$3820.00 DOH-7A Aquatic Surfactant Product Trade Name: SUMMIT 910 SURFACTANT A) Supplied in 2.5 gal. containers in lots of 2 100 gallon \$12.50 \$1250.00 DOH-8A A Water Soluble Liquid Spray Pattern Indicator Product Trade Name: Blueprint Plus or equal A) Supplied in 2.5 gallon containers in lots of 5 gallons. 100 gallon NO BID 0 DOH-9A A Non-lonic Sticker Spreader Product Trade Name: Nu-Film-IR or equal POLY FILM R A) Supplied in 2.5 gallon containers in lots of 2 100 gallon \$27.95 \$2795.00 DOH-10A A Ready-to-Use Formula Containing Paraffinic Oil Emulsifiers Product Trade Name: Thinvert RTU or equal A) Supplied in 2.5 gallon containers in lots of 5 gallons per case. 100 gallon NO BID 0		A) Supplied in containers in lots of	100	pound	NO BID	0
A) Supplied in QUARTS containers in lots of 12 or .3gal. CASE 100 gallon \$38.20 \$3820.00 DOH-7A Aquatic Surfactant Product Trade Name: SUMMIT 910 SURFACTANT A) Supplied in 2.5 gal. containers in lots of 2 100 gallon \$12.50 \$1250.00 DOH-8A A Water Soluble Liquid Spray Pattern Indicator Product Trade Name: Blueprint Plus or equal A) Supplied in 2.5 gallon containers in lots of 5 gallons. 100 gallon NO BID 0 DOH-9A A Non-lonic Sticker Spreader Product Trade Name: Nu-Film-IR or equal POLY FILM R A) Supplied in 2.5 gallon containers in lots of 2 100 gallon \$27.95 \$2795.00 DOH-10A A Ready-to-Use Formula Containing Paraffinic Oil Emulsifiers Product Trade Name: Thinvert RTU or equal A) Supplied in 2.5 gallon containers in lots of 5 gallons per case. 100 gallon NO BID 0	DOH-6A	A Liquid Drift Control Agent				
Aquatic Surfactant Product Trade Name: SUMMIT 910 SURFACTANT A) Supplied in _2.5 gal containers in lots of _2						
Aquatic Surfactant Product Trade Name: SUMMIT 910 SURFACTANT A) Supplied in _2.5 galcontainers in lots of _2	-	A) Supplied in QUARTS containers in lots of 12 or 3gal. CASE	100	gallon	\$38.20	\$3820.00
A) Supplied in2.5 galcontainers in lots of _2	DOH-7A					
A) Supplied in2.5 galcontainers in lots of _2		Product Trade Name: SUMMIT 910 SURFACTANT				
A Water Soluble Liquid Spray Pattern Indicator Product Trade Name: Blueprint Plus or equal A) Supplied in 2.5 gallon containers in lots of 5 gallons. 100 gallon NO BID 0 DOH-9A A Non-lonic Sticker Spreader Product Trade Name: Nu-Film-IR or equal POLY FILM R A) Supplied in 2.5 gallon containers in lots of 2 100 gallon \$27.95 \$2795.00 DOH-10A A Ready-to-Use Formula Containing Paraffinic Oil Emulsifiers Product Trade Name: Thinvert RTU or equal A) Supplied in 2.5 gallon containers in lots of 5 gallons per case. 100 gallon NO BID 0			100	gallon	\$12.50	\$1250.00
A) Supplied in 2.5 gallon containers in lots of 5 gallons. 100 gallon NO BID 0 A Non-lonic Sticker Spreader Product Trade Name: Nu-Film-IR or equal POLY FILM R A) Supplied in 2.5 gallon containers in lots of 2 100 gallon \$27.95 \$2795.00 OOH-10A A Ready-to-Use Formula Containing Paraffinic Oil Emulsifiers Product Trade Name: Thinvert RTU or equal 100 gallon NO BID 0	DOH-8A	A Water Soluble Liquid Spray Pattern Indicator				V.200.00
A Non-lonic Sticker Spreader Product Trade Name: Nu-Film-IR or equal POLY FILM R A) Supplied in 2.5 gallon containers in lots of 2 100 gallon \$27.95 \$2795.00 DOH-10A A Ready-to-Use Formula Containing Paraffinic Oil Emulsifiers Product Trade Name: Thinvert RTU or equal 4) Supplied in 2.5 gallon containers in lots of 5 gallons per case. 100 gallon NO BID 0		Product Trade Name: Blueprint Plus or equal				
A Non-lonic Sticker Spreader Product Trade Name: Nu-Film-IR or equal POLY FILM R A) Supplied in 2.5 gallon containers in lots of 2 100 gallon \$27.95 \$2795.00 DOH-10A A Ready-to-Use Formula Containing Paraffinic Oil Emulsifiers Product Trade Name: Thinvert RTU or equal 4) Supplied in 2.5 gallon containers in lots of 5 gallons per case. 100 gallon NO BID 0		A) Supplied in 2.5 gallon containers in lots of 5 gallons.	100	gallon	NO BID	0
A) Supplied in 2.5 gallon containers in lots of 2	DOH-9A					
A Ready-to-Use Formula Containing Paraffinic Oil Emulsifiers Product Trade Name: Thinvert RTU or equal		Product Trade Name: Nu-Film-IR or equal POLY FILM R				
Product Trade Name: Thinvert RTU or equal		A) Supplied in 2.5 gallon containers in lots of	100	gallon	\$27.95	\$2795.00
A) Supplied in 2.5 gallon containers in lots of 5 gallons per case. 100 gallon NO BID 0	A01-HOC	A Ready-to-Use Formula Containing Paraffinic Oil Emulsifiers				
D) Consolidad in 45 and an administration						
B) Supplied in 15 gallon drum. 100 gallon NO BID o			100	gallon	NO BID	0
		B) Supplied in 15 gallon drum.	100	gallon	NO BID	0

Harbiaida Did Cabadula

A) Supplied per each.

12	2 Herbicide Bid Schedule		6612C024				
Item #	ADJUVANTS Description	Estimated Quantity	Unit of Measure	Cost Per Unit of Measure	Extended Cost		
DOH-11A	A Concentrate Formula Containing Paraffinic Oil Emulsifiers and Surfactants Product Trade Name: Thinvert RTU or equal						
	A) Supplied in 2.5 gallon containers in lots of 5 gallons per case.	100	gallon	NO BID	0		
	B) Supplied in 15 gallon drum.	100	gallon	NO BID	0		
	*						
	SAFETY EQUIPMENT			Cost Per	****		
		Estimated	Unit of	Unit of	Extended		
Item #	Description	Quantity	Measure	Measure	Cost		
DOH-1S	Emergency Spill Kit Containing:						
	15 Universal Plus Sorbent Pads						
	3 Cobra Coils						
	1 Pair Safety Goggles						
	1 Pair Latex Gloves						
	1 Large Refuse Bag						
	1 List of Environmental Compliance Telephone Numbers	1					
	Size: 18"x18"x4" Vacuum						
	Packed in Puncture Resistant Foil				1		
	Product Trade Name:						
	A) Supplied by the kit.	1	each	NO BID	0		
DOH-2S	A Granular/Flake Spill Absorbent						
	Product Trade Name:						
	A) Supplied in containers in lots of	1	pound	NO BID	0		
DOH-3S	32 ounce Eye Wash Bottle						
	Product Trade Name:			EMPERIUM - NO. 11 HOLD			

0

NO BID

each

		00120024				
	MISCELLANEOUS			Cost Per		
		Estimated	Unit of	Unit of	Extended	
Item #	Description	Quantity	Measure	Measure	Cost	
DOH-1M	Pressure Rinser			<u> </u>		
	Product Trade Name: Easy Rinse or equal					
	A) Supplied per each.	1	each	NO BID	0	
DOH-2M	Hand Soap with Citrus Oil		333.1	NO BID	<u> </u>	
	Product Trade Name: Zep or equal					
	A) Supplied in 32 ounce containers in lots of 20 containers per case	1	container	NO BID	0	
DOH-3M	A Biostimulant Containing		Container	NO DID		
	Soluble Potash 1.00%					
	Iron 0.36%					
	Manure Extract 79.30%					
	Humic and Fulvic Acid Extract 9.00%					
	Kelp Extract 1.20%					
	Organo-Modified Silaxane Surfactant 0.36%					
	Product Trade Name: Launch or equal					
	A) Supplied in 2.5 gallon containers in lots of 5 gallons	2.5	gallon	NO BID	0	
DOH-4M	Nitri-Solve 100% - 15 mil 13" Nitrile Gloves - Compliance EPA 40 CFR 170			NO DID		
	A) Supplied size Small.	1	pair	NO BID	0	
,	B) Supplied size Medium.	1	pair	NO BID	0	
	C) Supplied size Large.	1	pair	NO BID	0	
	D) Supplied size X-Large.	1	pair	NO BID	0	
	E) Supplied size XX-Large.	1	pair	NO BID	0	
DOH-5M	A 5-gallon Backpack Sprayer					
	Product Trade Name: Birchmeier or equal					
	A) Supplied per sprayer	1	each	NO BID		
	B) Gasket Set for Sprayer Pump	1	set	NO BID		
	C) Hose Valve and Wand Repair Kit	1	kit	NO BID		
DOH-6M	2-Quart Handheld Pressure Sprayer					
	Product Trade Name: Tolco or equal					
	A) Supplied per sprayer	1	each	NO BID	1	

12 Herbicide Bid Schedule

6612C024

	MISCELLANEOUS		00120024	Cost Per	
Item #	Description	Estimated Quantity	Unit of Measure	Unit of Measure	Extended
DOH-7M	Closed System Backpack Sprayer	additity	Medasure	Measure	Cost
	Product Trade Name: Birchmeier BCS or equal				
	A) Supplied per sprayer		Tooch	NO DID	
	B) Gasket Set for Sprayer Pump	1	each .	NO BID	
	C) Hose Valve and Wand Repair Kit		set	NO BID	
	1 / white i whom the	1	kit	NO BID	

DOCUMENTS REQUIRED FROM AGENCY FOR A REQUEST FOR QUOTATION (RFQ)

Request for Quotation (RFQ): Used for one-time/single purchases, open-end contracts.

The information below is a checklist of Agency responsibilities in processing a Request for Quotation (RFQ). Please note, however, that while this information is accurate in most cases, there may be occasions where additional information may be needed or required.

	Description
V	*WV-35 Requisition or RQH Screen Signed by Agency (with estimated value & maximum budget amts)
/	Specifications & suggested vendor list (name & address)
	** WVFIMS Agency Cover Sheet (P-Document)
۱۸	Pre-Approvals when applicable (AG; CTO/ISC; Design Build; Gen Ser; Prison Industries;
AN	Surplus Property)
NA	Mandatory Pre-Bid Attendee List
	Addendums (information prepared by agency for processing by Purchasing Division)
	Signed Agency Recommendation for Award
	Purchasing Affidavit Signed and Dated by Successful Vendor (may be provided through bid process)
	Certification of Non-Conflict of Interest Signed by Agency Procurement Officer & Other Appropriate Staff
	WV-96 Agreement Addendum signed by Vendor & Agency (if applicable)

- * Maximum budget amounts must be reflected on the WV-35 to allow for price negotiations as authorized and described in 5A-3-11a of the Code and 148-1-7, 7.11 of the Code of Rules.
- ** Projects that are funded by sources whereby invoices will not be processed by the State Auditor's Office do not require a P-Document. However, in those cases the funding source must be named on the WV-35 to be carried forward on the Purchase Order.

May 14, 2012

*Check any combination of preference consideration(s) indicated above, which you are entitled to receive

Date:

State of West Virginia

VENDOR PREFERENCE CERTIFICATE

Certification and application* is hereby made for Preference in accordance with **West Virginia Code**, §5A-3-37. (Does not apply to construction contracts). **West Virginia Code**, §5A-3-37, provides an opportunity for qualifying vendors to request (at the time of bid) preference for their residency status. Such preference is an evaluation method only and will be applied only to the cost bid in accordance with the **West Virginia Code**. This certificate for application is to be used to request such preference. The Purchasing Division will make the determination of the Resident Vendor Preference, if applicable.

1.	Application is made for 2.5% resident vendor preference for the reason checked: Bidder is an individual resident vendor and has resided continuously in West Virginia for four (4) years immediately preced-
	ing the date of this certification; or, Bidder is a partnership, association or corporation resident vendor and has maintained its headquarters or principal place of business continuously in West Virginia for four (4) years immediately preceding the date of this certification; or 80% of the ownership interest of Bidder is held by another individual, partnership, association or corporation resident vendor who has maintained its headquarters or principal place of business continuously in West Virginia for four (4) years immediately preceding the date of this certification; or,
	Bidder is a nonresident vendor which has an affiliate or subsidiary which employs a minimum of one hundred state residents and which has maintained its headquarters or principal place of business within West Virginia continuously for the four (4) years immediately preceding the date of this certification; or,
2.	Application is made for 2.5% resident vendor preference for the reason checked: Bidder is a resident vendor who certifies that, during the life of the contract, on average at least 75% of the employees working on the project being bid are residents of West Virginia who have resided in the state continuously for the two years immediately preceding submission of this bid; or,
3.	Application is made for 2.5% resident vendor preference for the reason checked: Bidder is a nonresident vendor employing a minimum of one hundred state residents or is a nonresident vendor with an affiliate or subsidiary which maintains its headquarters or principal place of business within West Virginia employing a minimum of one hundred state residents who certifies that, during the life of the contract, on average at least 75% of the employees or Bidder's affiliate's or subsidiary's employees are residents of West Virginia who have resided in the state continuously for the two years immediately preceding submission of this bid; or,
4.	Application is made for 5% resident vendor preference for the reason checked: Bidder meets either the requirement of both subdivisions (1) and (2) or subdivision (1) and (3) as stated above; or,
5.	Application is made for 3.5% resident vendor preference who is a veteran for the reason checked: Bidder is an individual resident vendor who is a veteran of the United States armed forces, the reserves or the National Guard and has resided in West Virginia continuously for the four years immediately preceding the date on which the bid is submitted; or,
6.	Application is made for 3.5% resident vendor preference who is a veteran for the reason checked: Bidder is a resident vendor who is a veteran of the United States armed forces, the reserves or the National Guard, if, for purposes of producing or distributing the commodities or completing the project which is the subject of the vendor's bid and continuously over the entire term of the project, on average at least seventy-five percent of the vendor's employees are residents of West Virginia who have resided in the state continuously for the two immediately preceding years.
requirer against	understands if the Secretary of Revenue determines that a Bidder receiving preference has failed to continue to meet the ments for such preference, the Secretary may order the Director of Purchasing to: (a) reject the bid; or (b) assess a penalty such Bidder in an amount not to exceed 5% of the bid amount and that such penalty will be paid to the contracting agency cted from any unpaid balance on the contract or purchase order.
authoriz	mission of this certificate, Bidder agrees to disclose any reasonably requested information to the Purchasing Division and ses the Department of Revenue to disclose to the Director of Purchasing appropriate information verifying that Bidder has paid sired business taxes, provided that such information does not contain the amounts of taxes paid nor any other information by the Tax Commissioner to be confidential.
and acc	penalty of law for false swearing (West Virginia Code, §61-5-3), Bidder hereby certifies that this certificate is true curate in all respects; and that if a contract is issued to Bidder and if anything contained within this certificate as during the term of the contract, Bidder will notify the Purchasing Division in writing immediately.
Bidder:	Summit Helicopters Inc. Signed: Dellywyde J Peters

Title: Director of CKemical Sales

None

REO No	6612C024
RELIEU	

STATE OF WEST VIRGINIA Purchasing Division

PURCHASING AFFIDAVIT

West Virginia Code §5A-3-10a states: No contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and the debt owed is an amount greater than one thousand dollars in the aggregate.

DEFINITIONS:

"Debt" means any assessment, premium, penalty, fine, tax or other amount of money owed to the state or any of its political subdivisions because of a judgment, fine, permit violation, license assessment, defaulted workers' compensation premium, penalty or other assessment presently delinquent or due and required to be paid to the state or any of its political subdivisions, including any interest or additional penalties accrued thereon.

"Debtor" means any individual, corporation, partnership, association, limited liability company or any other form or business association owing a debt to the state or any of its political subdivisions. "Political subdivision" means any county commission; municipality; county board of education; any instrumentality established by a county or municipality; any separate corporation or instrumentality established by one or more counties or municipalities, as permitted by law; or any public body charged by law with the performance of a government function or whose jurisdiction is coextensive with one or more counties or municipalities. "Related party" means a party, whether an individual, corporation, partnership, association, limited liability company or any other form or business association or other entity whatsoever, related to any vendor by blood, marriage, ownership or contract through which the party has a relationship of ownership or other interest with the vendor so that the party will actually or by effect receive or control a portion of the benefit, profit or other consideration from performance of a vendor contract with the party receiving an amount that meets or exceed five percent of the total contract amount.

EXCEPTION: The prohibition of this section does not apply where a vendor has contested any tax administered pursuant to chapter eleven of this code, workers' compensation premium, permit fee or environmental fee or assessment and the matter has not become final or where the vendor has entered into a payment plan or agreement and the vendor is not in default of any of the provisions of such plan or agreement.

Under penalty of law for false swearing (West Virginia Code §61-5-3), it is hereby certified that the vendor affirms and acknowledges the information in this affidavit and is in compliance with the requirements as stated.

AFFIX SEAL HERE WOAJ DUD

WITNESS THE FOLLOWING SIGNATURE

NOTARY PUBLIC 1

PRE-BID CONFERENCE

SIGN IN SHEET

Request for Quotation Num	6612C015	Date:	2/23/2012 11:00					
Project Description:	Herbicides							
PLEASE PRINT LEGIBLY. THIS INFORMATION IS ESSENTIAL TO CONTACT THE ATTENDEES IN A TIMELY MANNER. FAILURE TO DO SO WAY RESULT IN DELAYS IN YOUR COMPANY GETTING IMPORTANT BID INFORMATION.								
Firm Name:	John Deere Landscapes	Firm Name:	NOVIO Inc.					
Firm Address:	atten: Bid Department.	Firm Address:	PO Box 21757					
	1385 East 36th Street		Columbus OH 43221					
	Cleveland, Ohio 44114							
Represenative Attending:	Watthew Marshall	Represenative Attending:	Michael Jennings					
Phone Number:	614-419-6141	Phone Number:	614 486-8994					
Fax Number:	614-863-4028	Fax Number:	614 486-7531					
Email Address:	mmarshall@johndeere landscapes.com	Email Address:	Mikejenninas@noucoinc.com					
Firm Name:	MUDOH	Firm Name:	CNC CHEMICAL INC.					
Firm Address:		Firm Address:	214 SIMMONS Dr.					
			CLONERDALE, VA 24077					
			•					
Represenative Attending:	EUGENE TUCKWILLED	Represenative Attending:	BOBIE TURNER					
Phone Number:	304-487-5233	Phone Number:	800.9903					
Fax Number:		Fax Number:	540.992.5601					
Email Address:	EUGENE. R. TUCKWILLELO WY.G	➤ Email Address:	BTURNER C CWC-CHEMICA, DM					
Firm Name:	Summit Helicophers INC (C3m)	Firm Name:	Crop Production Services, Inc					
Firm Address:	P.O. Box 39	Firm Address:	1850 Touchstone Road					
	Cloverdale Va. 24077		Colonial Heights, VA 23834					
			7					
Represenative Attending:	Barry W. Clinevell	Represenative Attending:	Charlie Smyth					
Phone Number:	540-992-5500	Phone Number:	804 520-0789 m 804 513-7185					
Fax Number:	540 - 992 - 5503	Fax Number:	804 520 -0089					
1	mitsales @ Rb Net. Com	Email Address:	Charles Smyth (O cosagy som					

PRE-BID CONFERENCE SIGN IN SHEET

Request for Quotation Nur	6612C015	Date:	2/23/2012 11:00	
Project Description:	Herbicides			
PLEASE PRINT LEGIBLY MAY RESULT IN DELAYS Firm Name:	THIS INFORMATION IS ESSENTIAL TO CONSIN YOUR COMPANY GETTING IMPORTANT	NTACT THE ATTENDEES IN A	TIMELY MANNER. FAILURE TO DO SO	
Firm Address:	Arborchem Products	Firm Name:		
Firm Address:	943 NIXON Dr	Firm Address:		
-	Mechanicsburg, PA			
Represenative Attending:	Joe Lentz	Represenative Attending:		
Phone Number:	215 760 9420	Phone Number:		
Fax Number:	717 766 666)	Fax Number:		
Email Address:	sociente B arbordan con	Email Address:		
Firm Name:	DOH	Firm Name:		
Firm Address:	1900 Kanawha Blvd, E	Firm Address:		
	Blag 5, A350			
	Charleston W 25305			
0	S. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1.			
Represenative Attending:	Syble Atkins	Represenative Attending:		
Phone Number:	304-558-9495	Phone Number:		
Fax Number:	304-558-2915	Fax Number:		
Email Address:	Syble.a. atkins @ wv. gov	Email Address:		
F: N				
Firm Name:		Firm Name:		
Firm Address:		Firm Address:		
		, i		
D				
Represenative Attending:		Represenative Attending:		
Phone Number:		Phone Number:		
Fax Number:		Fax Number:		
Email Address:		Email Address:		

PUNCH OUT LICENSE CARD HERE

3,7,11,12,14

Paul B. Thomas

C04464

Continuing Education Credits Credits Credits Credit Information Acquired Required Needed 11-Demonstration & 0 20 20 Due 12/31/2014 Research 12-Pesticide Storage & 12 20 8 Due 12/31/2013 Distribution 3-Forest Pest Centrel 16 20) .1 One 12/31/2013 7-Right-of-Way-Industrial 0 20 20 Due 12/31/2014 Weed

FOR USE ONLY IN CATEGORIES ABOVE

WEST VIRGINIA CERTIFICATION
Expires: 12/31/2012 C04464

Commercial Pesticide Applicator

Paul B. Thomas

Summit Helicopters, Inc.

P O Box 39

State Road 605

Cloverdale VA 2407

NOT TRANSFERABLE

AUTHORIZED REPRESENTATIVE

CERTIFIED APPLICATORS ARE CERTIFIED TO APPLY PESTICIDES IN THE CATEGORIES SHOWN ON THE OTHER SIDE OF THIS CARD. REGISTERED TECHNICIANS ARE REGISTERED TO APPLY UNDER DIRECT SUPERVISION OF A CERTIFIED APPLICATOR.

itt	CODE	UE	FILIT	IOU	BELOW.	
90.0		rown on the	The Arthurson			

Aqueultural Plant Pest Control Aqueultural Annual Past Control

8D- Wood Freatment

dE+ Udban IPM 9- Public Health

10. Regulatory

11. Comonatation & Bossaich 12. P. deide Sterage & Pedebaten 1/A-Predator Control

1.2774

1.4B- Sewar Boot Control

L.C-Handwood Lear Peleaca 1°D-Mesquita Control

1 :E - Clack Fly Contact 14 - Agost

Ferest Post Custod

IA- Ouramental & Full Outdoors IB- Ouramental Post Control Indoors

Head foodment

Agontic Post Control 7- Right of Way Industrial Wood dAs Goneral Past

⁸⁰ Structural Peda

³C). Fulling their

RFQ # 6612 CO24

STATE OF WEST VIRGINIA DEPARTMENT OF ADMINISTRATION PURCHASING DIVISION 2019 WASHINGTON STREET, EAST POST OFFICE BOX 50130 CHARLESTON, WEST VIRGINIA 25305-0130 05/09/2012

RESPER

JOHN N MILKO SUMMIT HELICOPTERS CMMM INC PO BOX 39

CLOVERDALE VA 24077

THIS IS TO CONFIRM RECEIPT OF YOUR VENDOR REGISTRATION FEE. OF THE FEE ENABLES YOU TO PARTICIPATE IN THE PURCHASING DIVIS COMPETITIVE BID PROCESS AND ENTITLES YOU TO A ONE-YEAR SUBSCI TO THE WEST VIRGINIA PURCHASING BULLETIN. A NEW ISSUE OF THE VIRGINIA PURCHASING BULLETIN IS POSTED ON OUR WEB SITE EACH V BID OPPORTUNITIES ESTIMATED AT \$25,000 OR MORE ARE ADVERTISEI PUBLICATION. WE ENCOURAGE YOU TO LOG ON AND VIEW THE BULLET] FRIDAY SO AS NOT TO MISS IMPORTANT BIDDING OPPORTUNITIES. OL ADDRESS IS:

HTTP://WWW.STATE.WV.US/ADMIN/PURCHASE

IN ORDER TO ACCESS THE WEST VIRGINIA PURCHASING BULLETIN, YOU NEED YOUR VENDOR NUMBER, GROUP NUMBER (IF ANY), AND YOUR PASS WHICH ARE PRINTED BELOW. YOUR ACCESS WILL BECOME EFFECTIVE C FIRST MONDAY AFTER 05/09/2012, STATE HOLIDAYS EXCLUDED.

HELPFUL TIPS: YOUR COMPUTER-GENERATED VENDOR NUMBER BEGINS W ASTERISK, BUT DO NOT USE THE ASTERISK WHEN LOGGING IN. LOGIN SCRIPT IS CASE SENSITIVE. THEREFORE, IF YOUR VENDOR NU CONTAINS A CHARACTER LIKE A, B, OR C, PLEASE TYPE IT IN UPPER

IF YOU HAVE QUESTIONS, FEEL FREE TO CONTACT US AT 304-558-231 JEANNE.B.BARNHART@WV.GOV. THANK YOU.

SINCERELY YOURS,

Jeanne Boundard

VENDOR REGISTRATION

P 140 M 160 VENDOR NUMBER: *709034233



Request for Quotation

SH-P

5

RFQ NUMBER 6612C024

ALAN CUMMINGS 304-558-2402

ADDRESS CORRESPONDENCE TO ATTENTION OF

*709034233 540-992-5500 SUMMIT HELICOPTERS CMMM INC PO BOX 39 CLOVERDALE VA 24077

DIVISION OF HIGHWAYS VARIOUS LOCALES AS INDICATED BY ORDER

DATE PRINTED		TERMS OF SALE			SHIP V	Α	F.O.B	FREIGHT TERMS
04/25/2012								
BID OPENING DATE: 05		05/09/	2012			BID	OPENING TIME O	1:30PM
LINE	QUAN	TITY	UOP	CAT.	ITEM NUM	IBER	UNIT PRICE	AMOUNT
	ISSUED 1:30 P SECTION REPRESON A COPY CERTIFOTHE BIN FAILURI COMPAN DISQUA	TO CH .M. TO N 3 OF ENTATI OF TH ICATIO D. E TO S Y'S CE LIFICA	ANGE 05/0 THE VE'S E COM N IN UBMIT RTIFI TION	ADD BID 09/201 BID P. CURREPANY' WEST BOTH CATIO OF TH	DENDUM NO PENING DA 2 AT 1:30 ACKET. A NT CATEGO S CURRENT VIRGINIA THE REPR NS WILL R E BID. 675-85 SAFETY &	. 01 TE FROM P.M. A COPY OF RY 7 CE CATEGO SHALL B ESENTAT ESULT I	05/02/2012 AT ND TO CLARIFY THE RTIFICATION AND RY 12 E SUBMITTED WITH IVE'S AND THE N ANEOUS ITEMS 024 ****** TOTAL	<u>1'195'219.80</u>
SIGNATURE						TELEPHONE	DATE	
TITLE		le-	EIN					
TITLE FEIN						ADDRESS CHANGE	ES TO BE NOTED ABOVE	



540-992-5500

Request for Quotation

RFQ NUMBER 6612C024

 P	AGI	=	:::
	1		

ADDRESS CORRESPONDENCE TO ATTENTION OF ALAN CUMMINGS 304-558-2402

SUMMIT HELICOPTERS CMMM INC PO BOX 39

*709034233

CLOVERDALE VA 24077

DIVISION OF HIGHWAYS SH-P TO VARIOUS LOCALES AS INDICATED BY ORDER

RECEIVED MAY 0 9 2012

DATE PF		**********		TER	MS OF SAL	E	SHIP \	/IA	F.O.B,	FREIGHT TERMS
05/04/2012		L,								
F0100000000000000000000000000000000000	D OPENING DATE: 05/16/2012		800000000000000000000000000000000000000	BID O	PENING TIME 0	1:30PM				
LINE		QUA	NTITY		HOD	ÇAT. NO.	ITEM NUI	MBER	UNIT PRICE	AMOUNT
						ID OP	NDUM NO. ENING DAT AT 1:30	E FROM	05/09/2012 AT	
0001	нег	RBIC	IDE,	E 1 AD			75-85 AFETY & M	ISCELL A	NEOUS ITEMS	D. P.
	***	***	- TH	IIS	IS TH	E END	OF RFQ	6612C0	24 ***** TOTAL	: 1'195'219.80
							1		2.0	, -
									II.	
	 	(2000)	9000000	(6)(6)(6)		SEERE	 VERSE SIDE FOR T	ERMS AND CO	l NDITIONS	L
SIGNATURE					TELEPHONE	DA	re .			
TITLE				[cc	:IN				1	
1					9200					GES TO BE NOTED ABOVE
V	VHFN	IRES	ONI	JING .	TO REQ	INSER	T NAME AND	ADDRESS	IN SPACE ABOVE LAB	LED 'VENDOR'